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D x(2x+y) @ 2 ® x
(@)y ® 2x+y

4x% + 2xy = 2x (2x +y)
A711, 2, x, 2x+y, 26,2(2x+y), x(2x+y), 2x(2x + )




‘ x2 —5x+6 = (x-2)(x-3)




D)sx -1 @ 5x+1

@ 7x-1 ® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521
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6x + 6 ©|ct.
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et S o] dof




3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)




6. 12ax? - 12axy + 3ay? & A5E3|51H?

@ 12(ax — ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ©3a(2x -y)?

12ax? — 12axy + 3ay* = 3a(4x? — 4xy + y?)
= 3a(2x - y)?
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O (3ax - 3y)? @ 32?(3ax - 4ay)?

® 3a(3%ax — 4ay)? (@)3(1(3)6 + 2y)(3x = 2y)
® 3(9ax? - 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)
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® x-1

222 4+ 5x+2=(2x+1)(x +2)
¥-1=x+1)(x-1)




9.  3x*+ (3a+16)x -6 1ol SHA (x+b)(3x—2) 7F Hrf. o] o,
A a+b o 22

@ -3 @ -1 @0 @ 2 ® 3

B ~
(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2

3x% + (=2 +3b)x — 2b = 3x* + (3a + 16)x — 6

—2b=-6, .b=3

-2+3b=3a+16, ..a=-3

La+b=0




10.  xofl ¥eF o]AHA] &% 4 ax +4 2] §F <

F7h x+1 4 W, a9 32?2

@1 @ 2 ® 3 @ 4 @5
e A58 x4 o 3
(v 1) v+

A) =23 (A )z
=x’+ax+4
A=4

ca=l+A=1+4=5
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® x2-7x+2

(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?
D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6




12, (x+y)(x+y+2) -3 Q5Ed] 5H?

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




13, x(x+1)(x+2)(x+3)+1 = V423l sh= 2dolet. () etoll S0
Alo] 4] 92 A0

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 42A4+1=(A+1)2=(®)?

@ x+3 @ x+2 ® x24+3x+2
@x2+3 ® x2+3x+1

@ x2 + 3x




14. 95 F 2% -y* - 20+ 2y 9] 15 A2

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x=y)—2(x-y)=(x+y-2)(x-y)
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= A< B =5
TOVL‘l /l]n ?__TT':OH%H

@ 3x% 4 18x+27 = 3(x+[ )2

@ 9x2 - 24x +16 = (__|x—4)?

@ 222 -72=2(x+6)(x-2x[ )
@ 6x2-17x+12 = (2x—-[ (3x-4)

@x2 -20x+91 = (x—7)(x—D)

B

o, §1 2ol &

@® 3(x®2 +6x+9) =3(x+3)?
[ ]=3

@ (3x-4)?

[ ]=3

® 2(x* - 36) = 2(x + 6)(x — 6)
2x[ |=6, ~[ ]=3

@ (2x-3)(3x—4)

[ ]=3

® (x=T7)(x-13)

[ ]=13




16. oA 16 — 4x? 4 4xy — y? = Ql2olistH?

O d-x+y)d-2x+y) @ 4+2x-y)d-x-y)
® d-2x+y)(4+2x+y) @(4+2x—y)(4—2x+y)

® (d+2x+y)(4-2x-y)

42— (2x-y)?=4+2x-y)(4-2x+y)




17. x*—5x2 +49] Q57 opd AL

® x-1 @ x+2 @ x+1 @ x-2 @x—4




18. x*-2xy+y*-b5x+5y+4 & d5-=EolictH?

@(x—y—4)(x—y—1) @ (x_y+4)<x_y+1)
@ (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)

x2 = 2xy + y* - bx + by + 4
= (x=y)? = 5(x—-y) +4
=x-y-4)(x-y-1)
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& 57| SoA B 2w

Q ma+ mb =m(a+b)
© a*-2ab+b*> = (a-b)?

© a®>-b*=(a+b)(a-Db)

@ x2+ (a+b)x+ab= (x+a)(x+b)

® 6 ®o.0 ® G, ©
@ ©,© ® 6.0,

~&B ~

2x202-2x40+2

=2(202-40+1) > ma+mb=m(a+b)
=2(202 -2x20x 1 +12)

=2(20-1)2 - a®-2ab+ b* = (a—b)?
=2x19?




20. x=V3-6, y=V3+2 <& o], x>+ 2xy - 3y% ] 722

O -12 @ -24 ® -32
@ -24+/3 @—32\/5

)= (x=y)(x+3y)
-8, x+3y=4V30|B&
x4v3 =-323

=
— <
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21.

o] HYSEE P4 A, B, C o] TLL 55 &A= v=7)

MD)16, 6, 3 @ 8,6, 3 ® 16, 3, 6

a*+8a+A=(a+4)?=d’>+8a+16, A=16
¥ +Bx+9=(x+C)?=x2+2Cx+C?
C?=9, C=+3,B=2C, B=+6

~A=16, B=6, C=3 (- B, Ct %)
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Vi=a-249 M, Vx—4a+12- Vx+2a-3 & 7

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3
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Vi=a-2 o FHS AESH x =0’ -4a+4
Va2 —8a+ 16 — Va2 —2a+ 1

= /(@a-4)2- /(a-1)?

=la—4|-la-1|

=-a+4-a+1=-2a+5
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DOn (Sa2 +3b% + 8ab)
@2710119

®n (2a2 +2b% + Sab)

@ 8nab

@ nab

0; Y ¥R 5L a, 0, Y HIAE2 5 0lBE & U9 HIAE
a+ b o]ttt
wetq A

=

rlo

(a+b)*n—a*n—b?n = 2abn ©|Tt.




24. a+b=V6,ab=10°]1, (a-b)a®+ (b—a)b®> =k 2t T uf, k? 2
= kY

O 20 @ 21 @ 22 @ 23 ®)24

(a-b)? = (a+b)*-4dab

— (VB -4=2

(a=b)a® + (b-a)b* = (a-b)a® - b*(a - b)
= (a=b)(a®-1?)
= (a+b)(a-b)
=26
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o]7}y 9l AAZHE ABCD Wmoko] Folg  AS

Pl Aoz el F Q4R ),

A} ABFE, EGHD & FAtzZtgolnz
GF=y-(x-y)=2y-x,FC=x-y
2 AR Wole (2y - x)(x-y) otk




